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History

Ver Date Description

1.0 Aug.2019 Initial version

1.1 Sep.2019  Add command mode throughput test result
1.2 Oct.2019  Modify contents about command mode
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UART Throughput Test & 5t7| |3l A= cTS/RTS £ 0|83t MO X wizFi360 M| Of Software 7t = 2 S}

WizFi360 EVB or WizFi360io

STM32Fxxx EVB(NUCLEO-FA01RE)
- PC

Serial Tool
o YAT Serial Tool(Data Mode)

WizFi360 M| O] Software(Command Mode)

1Mbyte data file
WiFi Router(SoftAP mode S AF2E A2 | 2|)

Ct.

F|>l

Data Mode & 4 20f| = YAT Serial Tool & O| &35} RTS/CTS & A S}, DTR & Data Read A= A
A 2 RTS/CTS 71 M 0S5 HAM GO Ef T&0[ O| F O Tt

Command Mode & 43 <0f= AT+CIPSENDBUF command = O|&5}0] SHHO|| Z|Cf E'H == Q= H|O|H Byte
£=01 2048 S Mt = 2048 Byte 7| 2| Data S E L 11, EECHA| AT+CIPSENDBUF 2F H|O|E{ & HHE 8| 71T A
OOl ®&0| O| R0 ZIC.

———Connect and LAN or Wi-Fi

_,.-Set'la\ \nte\"aCe—" :

Automatically assigns temporary IP
address to PC by DHCP server.
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CIS GND

RTS | RXD TXD

TTL to USB

MAC0008DC 360030

i SN:0120130101000006 1

C€ FC [
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- Station Mode

AT+CIPSTA_CUR?

AT command Terminal
AT<CR><LF=>
AT <CR=><|F=
AT+CWMODE_CUR=1 0K<CR><LF>
AT+CWMODE CUR=1<CR><LF>
AT+CWDHCP_CUR=1,1 <CR><| F>
OK<CR=<LF=
AT+CWLAP AT+CWDHCP CUR=1,1<CRs><lLF>
. <CR=<|F=
AT+CWJAP_CUR="wizms1",”maker0701” OK<CR><LF>
AT+CWLAP<CR><LF=>

+CWLAP: (4,"DIR-815_Wiznet", -59," ™, 1)<CR><LF=>

+CWLAP: (9,"ESP_574935",-71," ",1)<CR><LF=>
+CWLAP: (3, "##WIZnet_irina", -46,"l "+ 1)<CR=><LF=
+CWLAP: (3,"Matthew2.4",-63," ", 2)<CR=><LF=
+CWLAP:(3,"rena",-46," " 3)<CR=><LF>
+CWLAP: (0,"iptime",-67," ",4)<CR=><LF>
+CWLAP: (3,"Dap”,-63," I',5)<CR><LF>

+CWLAP: (8,"ESP_577CC7",-67," ",6)<CR><LF>
+CWLAP: (3, "wizmsl",-63," ", 6)<CR><LF>
+CWLAP: (B, "WizTi360",-69," " B)<CR=<LF>
+CWLAP: (4, "DLINK-IPv&",-55," ",18)<CR><LF=>
+CWLAP: (B, "iptime",-59," __",11)=<CR><LF=>

+CWLAP: (3, "WIZnet Scott™,-51,"

+CWLAP: (8,"WizFi3e@ A1B2D1",-69,"
+CWLAP: (3, "Teddy AP",-57,"

<CR><LF=>

OK<CR=<LF=

AT+CWIAP CUR="wizms1l",6 "maker@701"<CR=<LF>
WIFI DISCONNECT=CR==|F=

WIFI CONNECTED<CR=<LF=

WIFI GOT IP<CR=<Lf=>

<CR><LF=>

0K<CR><LF=>

AT+CIPSTA_CUR?<CR=<LF=

+CIPSTA CUR:ip:"192.168.1.128"<CR><LF=
+CIPSTA_CUR:gateway:"192.168.1.1"<CR><LF>
+CIPSTA_CUR:netmask:"255,255.255.0"<CR><_F>

", 11)<CR><LF>
",11)<CR><l F>
", 13)<CR><LF>

<CR><|F>
0K<CR=><LF=>

- UART CTS/RTS Setting

AT command Terminal

AT+CWUART_CUR = 115200,8,1,0,1 A raET (UR=115208,8,1,8, 1<CR><LF>
O0K<CR><LF>

Terminal Setting
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1. Ctrl+Shift+S > Open the Settings frmetine *
2. Flow Control<tel Hardware(RFR/CTS)= Terminal Tupe: [Text v Text Sefincs...
W % Port Type: Serial COM Port v Cancel
— Port Settings
Serial Port! Defaults...
COM3 - USE Serial Port - {in use by this termin v‘ (=]
Bits per Second: Help
Data Bits: 8 ~
Parity: Mone ~
Stop Bits: 1 v
Flow Control:
Hardware (RFR/CTS) ~
When connected, detect disconnect by
monitoring the port every -EEII] ms
When disconnected, try
to reopen the port every [2m] ms Advanced Setings..
3. Terminal® o}#o] 29 CTS/DTR?] i =
_ _ _ ISerialpurtCDMi('Hi!Dﬂ,E_NDnE,'\.Hardwirf)\sup?nand(urmzn?d @|[rrr 0@ (CTS |0 @ DTR|O JI [0 @[Dcojo @
2502 5912 A2 HAT F vk - -
- TCP Client /Data mode
AT command Terminal
_w "o " AT+CIPSTART="TCP","192.168.100.27",5001<CR><LF=>
AT+CIPSTART="TCP","192.168.100.27",5001 A IRSTRRT= T
AT+CIPMODE=1 <CR><LF>
OK<CR=<LF=>
AT+CIPSEND AT+CIPMODE=1<CR><LF>
<CR><LF=>
0K<CR><LF>
AT+CIPSEND<CR=><LF>
<CR><LF>
-
Terminal Setting
1' DTRO] ﬂ%zl—%oé EH' 1M'tXt% ELH:J—’_' Serial port COM3 (115200, 8, None, 1, Hardware) is open and connected @) RFR |0 @ |CT5| 0 @ DTR |2 @JOSR [0 DCD |0 @
2. DTRE YA 2FEEZ ul¥ 9 dlolg 7} —
end File
Serial2 £3] A4 A Ho}. 1Mt v Send File (F4) |
Serial port COM3 (115200, 8, None, 1, Hardware] is open and connected | [RFR |0 @ [cTs |0 @ pTR| 2 @ |psr 0@ 0co 0@

- TCP Client / Command mode

AT command

Example Code

AT+CIPSTART="TCP","192.168.100.27",5001
AT+CIPMODE=0
AT+CIPSENDBUF=2048

Send the 2048byte data * 512times = 1Mbyte

int8_t deviceTestThroughput_WizFi36@(char =data, int len)
{
int8_t ret = RET_NOK:
int ont;
int segid = 0;
for{ent = @; cnt < (len / 4); cnt++) // 2k = 512 = 1IN
if(ATCmdParser_send("AT+CIPSENDBUF=%d", len)a& ATCmdParser_recw("OK") && ATCmdParser_recv(">"))
if(ATCmdParser_send("%s", data) && ATCmdParser_recv("%d,SEND OK", &segid))
{
ret = RET_OK;
}
else

printf("write data : failed\ri\n");

else
printf("set buffer : failed\r\n");
}

return ret;
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1MbyteE PC 2 WizFi3602 M| 0{5l= MCUOIM WizFi3602| Serial(UART1)2 C|O|E{E EL{31, TCP
Server2 H|O|E{ & ™& St}

Baud rate Data mode Command mode

Time Speed(bit/s) Time Speed(bit/s)
115200 123s 66K 93.9s 87.2K
921600 16.3s 502K 14.0s 585.1K
1000000 14.9s 550K 13.0s 630.2K
1250000 12.7s 645K 11.0s 744.7K
1500000 10.5s 780K 10.0s 819.2K
2000000 9.7s 845K 8.0s 1.0M

ol'd £ X = WiresharkE 0| 8510], HIO|E| MEAIRRE 22E|= A|F-MNK|2 AlZtE 5He A
Appendix 12 ™ EIC|

rlo

Baud rate | Data mode Command mode
115200 123s : 66Kbit/s 93.9s : 87.2Kbit/s

3823 122. 858907 192.168.160.27 192.168.180.28 T 545001 + 52161 [ACK] Seqrl Ack=1823005 Win=65535 Len=8 51.830141 192.168.0.2 192.168.0.4 TCP 1078 51003 + 8000 [ACK] Seq=1 Ack=2 Win-6144 Len=1024
3824 122865198 192.166.100.28 192.168.100.27 T 498 52161 - 5681 [PSH, ACK] Seqr1023025 Ack~l Win=6144 m-m [ree » 61,830144  192.168.0.2 192.168.0.4 TCP 1078 51003 » 8000 [PSH, ACK] Seq=1025 Ack=2 Win=6144 Len=1024
13 1220038 D07 Ao2ia1ee8 TP o4 aa00 - SHEI (] Senrl Ackei0aase WinedsO | Maddston aen b 54 8000 + 51003 [ACK] Seq=2 Ack=204 Wine64512 Len-0
e S dwbabe e iaeesuin A st s i L el | B e o T e e
— — — — = 13 2.013842 192.168,0.2 192.168.0.4 TCP 1078 51003 + 8000 [PSH, ACK] Seq=3073 Ack=2 Win=6144 Len=1024
3719 95.638545  192.168.0.2 192.168.0.4 TCP 1078 51003 + 8000 [PSH, ACK] Seq-1045505 Ack=2 Win=6144 Len=1024
372095.638677  192.168.0.4 192.168.0.2 TCP 548000 + 51003 [ACK] Seq=2 Ack=1046520 Win=64512 Lens0
372195.824157  192.168.0.2 192.168.0.4 TCP 1079 51003 + 8000 [ACK] 56q-1046520 Ack=2 Win=6144 Len=1024
3722 95.824158  192.168.0.2 192.168.0.4 TCP 1078 51003 + 8000 [PSH, ACK] Seq=1047553 Ack=2 Win=6144 Len=1024
3723 05.824392  192.168.0.4 192.168.9.2 TCP 54 5000 + 51003 [ACK] Seq-2 Ack=1048577 Win-64512 Len-
921600 16.3s :502Kbit/s 14.0s : 585.1Kbit/s
AT i e T e e i e e e Sl St oarie  192160.02 192.160.0.4 TP 107050155 8000 [ACK] Seq) Acke2 Win-61ad Lene1oas
vl AN pipestiv 545001 = 52165 [ACK] Seqel Acke1823185 Win-65535 Len-d 5173.947736  192.168.0.2 192.168.0.4 TCP 1078 50155 » 8000 [PSH, ACK] 5eq=1025 Ack=2 Win=6144 Len=1024
2549 15317138 192.168.100.28 192.168.100.27 T 78 52165 + 5001 [PSH, ACK] Seq=1023185 Ack=] Win-61a4 Len-816 [TCP segmeft 518 3.947816  192.168.0.4 192,168.0.2 TCP 54 8000 + 50155 [ACK] Seq-2 Ack-2049 Win-64512 Len-0
2550 16.357729 192,168,100.27 192,168,100.28 e 54 5001 + 52165 [ACK) Seqel Ack=1824001 Min=64719 Len= 5103,974666  192.168.0.2 192.168.0.4 TCP 1078 50155 + 8000 [ACK] Seq=2049 Ack=2 Win=6144 Len=1024
5203.974667  192.168.0.2 192.168.0.4 TCP 1078 50155 + 8000 [PSH, ACK] $0q=3073 Ack=2 Win-6144 Len=1024
2062 17.905709  192.168.0.2 192.168.0.4 TCP 1078 50155 + 8000 [PSH, ACK] Seq-1045505 Ack=2 Win-6144 Len=1024

2063 17.905776
2064 17.932038
2065 17,934456

548000 + 50155 [ACK] Seq-2 Ack-1046529 Win-64512 Lon-0
1078 50155 ~ 8000 [ACK] Seq=1046529 Ack=2 Win=6144 Len=1024
1078 50155 + 8000 [PSH, ACK] 50q=1047553 Acke2 Win-6144 Len=1024

2066 17.934502 _ 192.168.0.4 192.168.0.2 TCP 54 8000 + 50155 [ACK] Seq-2 Ack-1048577 Win-64512 Len-0
3868 14774321 192.163.109. 28 192.168.108.27 e 499 53128 + 5891 [PSH, ACK] Seq-1823125 Ack-1 Iln-ElM Len-us [ree 15 9.855125 192.168.0.2 192.168.0.4 TCP 1078 60309 + 8000 [ACK] Seq=1 Ack=2 Win=6144 Len=1024
3869 14.815213 192.168. 100,27 192168, 100.28  TCP 54 5000 + S4128 [ACK] Seqe1 Ack=123561 kin=65059 169.855126  192.168.0.2 192.168.0.4 TCP 1678 60309 + 8000 [PSH, ACK] 5eq1025 Ack-2 Win-614a Len-1024
819495 192,168.100.28 192.160.100.27 TP 430 5128~ s00L [P, ACK] Seq-1029561 hcket Mnsitd Lencda (1P | 170.955207  192.168.0.4 197.168.0.2 TCP 56 8000 + 60309 [ACK] Seq-2 Ack-2049 Win-64512 Len-0
e e e 54 5001 + SE128 [ACK] Seqrl Ack=1824881 Min=64855 Len=e 189.880881  192.168.0.2 192.168.0.4 TCP 1078 60300 + 8000 [ACK] Seq=2049 Ack=2 Win-6144 Len-102¢
19 9.880861 192.168.0.2 192.168.0.4 TCP 1078 60309 + 8000 [PSH, ACK] Seq=3073 Ack=2 Win=6144 Len=1024
155022.825153  192.168.0.2 192,168.0.4 TCP 1078 60309 + 8000 [PSH, ACK] Seq=1045505 Ack=2 Win-6144 Len=1024
1551 22.825249  192.168.9.4 192,168.0.2 TCP 548000 + 60309 [ACK] Seqe2 Ack=1046529 Win-64512 Len-0
155222.852234  192.168.0.2 192.168.0.4 TCP. 1078 60309 + 8000 [ACK] Seq=1046520 Ack=2 Win=6144 Len=1024

155322852235 192.168.0.2 192.168.0.4 TCP 1078 60309 + 8000 [PSM, ACK] Seq-1047553 Ack-2 Win-6144 Len-1024
1554 22.852297 192.168.0.4 192.168.0. 1P 54 8000 » 60309 [ACK] Seq=2 Ack=1048577 Win=64512 Len=@

1250000 12.7s : 645Kbit/s 11.0s : 744.7Kbit/s

2863 12.592480 192.168.180.28 192.168.100.27  TeR 499 55136 + 5001 [PSH, ACK] Seq1823185 Acke1 Win=5144 Len=2hé [Ti

2864 12.631883 192.168.180.27 192.188.108.28  TCP 545001 + 58136 [ACK] Seqel Ack=102362] Win=65699 Lensd

2865 12.633959 192.168.180.28 192.168.100.27 TR 434 58136 - 5001 [PSH, ACK] Seq=1823621 Ack=1 Win=6144 Len=3§@ [Ti

2866 12.674856 192.168.10.27 192.168.100.28  TCP 545691 + 58136 [ACK] Seq=1 Ack=1824861 Win-64719 Len=8 33.351673  192.168.0.2 192,168.0.4 TCP 1078 57187 > 8000 [ACK] Seq=1 Ack=2 Win-6144 Len=1024
43.351673  192.168.0.2 192.168.0.4 TCP 1078 57187 » 8000 [PSH, ACK] Seq=1025 Ack=2 Win-6144 Len=1024
53.351752  192.168.0.4 192.168.0.2 TCP 512 Len=0
63.372523  192.168.0.2 192.168.0.4 TCP =1024
73.372524 192.168.0.2 192.168.0.4 TCP 1078 57187 + 8000 [PSH, ACK] Seq=3073 Ack=2 Win=6144 Len=1024
153414.330917  192.168.0.2 192.168.0.4 TCP 107857187 + 800D [PSH, ACK] Seq=1045505 Ack=2 Win=6144 Len=1024
1535 14.330971  192.168.0.4 192.168.0.2 TCP 50 8000 + 57187 [ACK] Seq-2 Ack-1046529 Win=64512 Len-0
1536 14.351216  192.168.0.2 192.168.0.4 TCP. 1078 57187 + 8000 [ACK] Seq=1046520 Ack=2 Win=6144 Len=1024
153714351217 192.168.0.2 192.168.0.4 TCP 107857187 + 8000 [PSH, ACK] Seq-1047553 Ack-2 Win-6144 Len-1024
1538 14.351273 192.168.0.4 192.168.0. TP 54 8000 » 57187 [ACK] Seq=2 Ack=1048577 Win=64512 Len=@

1500000 10.5s : 780Kbit/s 10.0s : 819.2Kbit/s

2242 10. 389973 192.168.109.28 192.168.100.27 e 490 65621 - 5001 [PSH, ACK] Seq-1823074 Ack=1 Win=6144 Lon3 1.958011  192.168.0.2 192.168.0.4 TCP 1078 60368 » 8000 [ACK] Seq=1 Ack=2 Win=6144 Len=1024

2244 10.430942 192.168.100.27 192.168.100.26 e 545001 - 65021 [ACK] Seq=1 Ack=1023510 Win-G5093 Len-P 41.958012  192.168.0.2 192.168.8.4 TCP 1078 60368 + 8000 [PSH, ACK] Seq=1025 Ack=2 Win-6144 Len=1024

2245 18, 445657 192.168.100.28 192.168.108.27 T 545 65621 + 5001 [PSH, ACK] Seq-182351 Ack-1 Win-614d Lens 1,958100  192.168.0,4 192.168.0.2 TCP 548000 + 60368 [ACK] Seq=2 Ack=2049 Win=64512 Len-0

2247 10.486915 192.168.108.27 192.168.100.28 e 545801 ~ 65621 [ACK] Seq-1 Ack=1024001 Win-64608 Len-P g 1.070081  192.168.0.2 192.168.8.4 TCP 1078 60368 + 8000 [ACK] Seq=2049 Ack=2 Win-=6144 Len-1024
71.979981  192.168.0.2 192.168.0,4 TCP 1078 60368 + 8000 [PSH, ACK] Seq=3073 Ack=2 Win=614a Len=1024
153711.937389  192.168.0.2 192.168.0.4 TCP 1078 60368 + 5000 [PSH, ACK] S0q-1045505 Ack=2 Win-6144 Len-1024
153811.637412  192.168.0.4 192.168.0.2 TCP 548000 + 60368 [ACK] Seq=2 Ack=1046520 Win=64512 Len=0
153911,955072  192.168.0.2 192.168.0.4 TCP 1078 60368 + 8000 [ACK] Seq-1046529 Ack=2 Win=61¢4 Len-1024
150011.955972  192.168.0.2 192.168.9.4 TCP 1078 60368 + 5000 [PSH, ACK] 50q-1047553 Ack-2 Win-6114 Len-1024
154111,956032  192.168.0.4 192.168.0.2 TCP 548000 » 60368 [ACK] Seq=2 Ack=1048577 Win=64512 Len=0
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6316 9.646387
6317 9.686546
6318 9.690489
6319 9.731538

2000000 9.7s : 845Kbit/s

192.168.100.28
192.168.100.27
192.168.100.28
192.168.100.27

192.168.100.27

192.168.100.28

e
TP

490 65931 + 5001
54 5001 = 65031
374 65031 = S0€1
54 5001 = 65031

[PSH, ACK] Seqe1023245 Ack=1 Win=61
[ACK] Seq=1 Ack=1023681 Win=65099 L
[PSH, ACK] Seq=1023681 Ack=1 Win=61

[ACK] Seq=1 Ack=1024001 Wi

64779 L

8.0s : 1.0Mbit/s

P4 3 2.4902051 192.168.0.2 192.168.0.4
n"42.496860  192.168.0.2 192.168.0.4
B4 52.496929  192.168.0.4 192.168.0.2
n=62.506809  192.168.0.2 192.168.0.4

7 2.507544 192.168,0.2 192.168.0.4

153310.470341  192.168.0.2 192.168.0.4
1534 10.470400  192.168.0.4 192.168.0.2
1535 10.485628  102.168.0.2 192.168.0.4
1536 10.485628  192.168.0.2 192.168.0.4

1537 10.485694 _ 102.168.0.4 192.168.0.2

e
TP
TP
Tce
e
TP
Tce
TP

Tce

1078 63635 » 8000 [ACK] Seq-1 Ack=2 Win-6144 Len-1024

1078 63635 » 8000 [PSH, ACK] Seq=1025 Ack=2 Win=6144 Len=1024
548000 » 63635 [ACK] Seq=2 Ack=2849 Win=64512 Len=e

1078 63635 + 8000 [ACK] Seq-2040 Ack=2 Win=6144 Len=1024

1078 63635 + 8060 [PSH, ACK] Seq=3073 Ack=2 Win=6144 Len=1024

1078 63635 + 8000 [PSH, ACK] 50q-1045505 Ack-2 Win-6144 Len-1024
54 8000 + 63635 [ACK] Seq=2 ACk=1046529 Win=64512 Len

1078 63635 + B0OO [ACK] Seqr1046520 Ack=2 Win=6144 Len=1024

1078 63635 + 8000 [PSH, ACK] Seq-1047553 Ack-2 Win-6144 Len-1024
54 8000 » 63635 [ACK) Seq=2 Ack=1048577 Win=64512 Len=0

WizFi360 Application — Throughput




